
SAP ABAP table RERAC_OP_ACT_X {Posting Activity and Addit. Fields (TIVRAOPACT/TIVRAOPACTT)}

RERAC_OP_ACT_X

OPACT [CHAR (6)]

OPACTGROUP [CHAR (6)]

SHSTRATVEND [CHAR (12)]

CURRENCY [CUKY (5)]

HOUSEBKID [CHAR (5)]

BANKACCTID [CHAR (5)]

TAXTYPEOPT [CHAR (4)]

TAXGROUPOPT [CHAR (20)]

TAXTYPENOOPT [CHAR (4)]

TAXGROUPNOOPT [CHAR (20)]

FSVARIANTBD [CHAR (4)]

T012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

 RERAC_OP_ACT_X-HOUSEBKID = T012-HBKID 

0..N

0..N

T012K

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

HKTID [CHAR (5)]

 RERAC_OP_ACT_X-BANKACCTID = T012K-HKTID 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RERAC_OP_ACT_X-CURRENCY = TCURC-WAERS 
0..N

0..N

TIVCASHSTRATSYS

MANDT [CLNT (3)]

SHFLDNAME [CHAR (10)]

SHSTRAT [CHAR (12)]

 RERAC_OP_ACT_X-SHSTRATVEND = TIVCASHSTRATSYS-SHSTRAT 
0..N

1

TIVRAOPACT

MANDT [CLNT (3)]

OPACT [CHAR (6)]
 RERAC_OP_ACT_X-OPACT = TIVRAOPACT-OPACT 0..N

0..N
TIVRAOPACTGROUP

MANDT [CLNT (3)]

OPACTGROUP [CHAR (6)]

 RERAC_OP_ACT_X-OPACTGROUP = TIVRAOPACTGROUP-OPACTGROUP 
0..N0..N

TIVRAOPFSBD

MANDT [CLNT (3)]

FSVARIANTBD [CHAR (4)]

 RERAC_OP_ACT_X-FSVARIANTBD = TIVRAOPFSBD-FSVARIANTBD 

0..N

0..N

TIVRATAXGROUP

MANDT [CLNT (3)]

TAXGROUP [CHAR (20)]

 RERAC_OP_ACT_X-TAXGROUPNOOPT = TIVRATAXGROUP-TAXGROUP 

0..N

0..N

 RERAC_OP_ACT_X-TAXGROUPOPT = TIVRATAXGROUP-TAXGROUP 

0..N

0..N

TIVRATAXTYPE

MANDT [CLNT (3)]

COUNTRY [CHAR (3)]

TAXTYPE [CHAR (4)]

 RERAC_OP_ACT_X-TAXTYPENOOPT = TIVRATAXTYPE-TAXTYPE 

0..N

0..N

 RERAC_OP_ACT_X-TAXTYPEOPT = TIVRATAXTYPE-TAXTYPE 

0..N

0..N


